Section 9.3

Quadratic Formula
—b++/b*—4ac

2a

Given a quadratic equality ax* +bx+c=0, the quadratic equation is x=

Discriminant: »*-4ac

Case 1: When {b2 —4ac} >0, then the quadratic equation has 2 real number solutions.
Also, if {* —4ac}] is a perfect square (i.e. 4, 9, 16, 25, 36, 39, etc.), then the
quadratic equation is factorable.

Case 2: When {»* -4ac} =0, then the quadratic equation has 1 real number solution
and it is factorable.

Case 3: When {»* -4ac} <0, then the quadratic equation has 2 Complex Number
solutions.

Rule of thumb for solving quadratic equation.

Step 1: Calculate the discriminant to see if the quadratic equation has real number
solutions. This step can help us if we should try factoring or not.

Step 2: Try factoring.

Step 3: If factoring takes too long or the discriminant states that it is not factorable,
then use the Quadratic Formula or Completing the Square technique.
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